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'(M/1)=79.6033767752° > p & fe2. = & {8 p & pF %1 =0.5-6°+360°=0.2788795090 p > 4p % **

6 FF Al » 352455 P & me2 & W P T PF%=0.5-0°+360°=0.2788795090 p - 4p § 3t 17 pF
18 # 24.8 §y » & 0.7211204910 p > =P % B ey P R 5 02 p - & AEp F 3
#= B i pxﬂ*?]’?’é“ﬁffﬂf?ﬁgﬂﬁﬁw"'ﬁ» w#ﬁxﬂﬂ*ﬁ“fep/kﬂ/p’0<x<l’
T°=2702+x (™ k& 3| % 3 2. B )> & 8 10 T35 2. p % p P %=0.2+x - trial and error ;2
¥ x=0.5209272908 p » # {8 XM’°=22.6740969372°~ 0°°=79.5338247039° > & B AP % P
%l % 0.2+x=0.7209272908 B > 4p % *+ 17 p¥ 18 & 8.1 4} ;

1 2 1 2 . o oo g
X [cos(90°—e/°)] +[cos()u°)] _[tan (90°—6-°)+tan“(A )]
7= cos’ T T —24.8568741892°

><cos(90°—9'°)Xcos(?v")
B P FRE B 25T ha 24.8568741892° -
Bl 11 ARH] 10> A ep 3% P P 422739 P PFRFES B e L P E FFER 2§ BF B

i e ?

f& 0K 100 A kep 3% P P A2 2739 P BFR R 0 A e R L 0.254273.9-274=0.15
poo W= 3364 5 BASs 0.15+(270°-0°)+360°=0.9 p > T 21 pF 36 & > £ A~ B =
Rl 5 T=273.9 p o %15 91.31x2=<273.9=<91.31x3> & A~B - feshZ & F A~ 3| % 3
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2. 5 A°=23.5°%(273.9+91.31)-47°=23.4922790494° - % & 23.5°N [ 2L i¢ r=Rsin(90°-
23.5°)=0.9170600744R > # 23.5°N 3 4 ' 7 K=Rco0s(90°-23.5°)=0.3987490689R » 3% ¥ %] &
23.5°N &1 M=Ktan\°=0.3987490689R*x0.4346521511=0.1733171405R >  0°=cos
I(M/r)=79.1060278574° > p 1 oz = & t5 p ) BF %] =0.5-0°+360°=0.2802610337 p - 4p & **
6 FF 43 A 34.6 4y P % w2 = % p % P %1 =0.5-0°-360°=0.2802610337 P > 4p § ** 17 pF
16 & 25.4 4 » & 0.7197389663 P » %% B Aud p PR 52 099 » ¢ P E Y &
B fieteiZ %2 (8 F P kP o BRK Bl x PEFEE P E o 0<x<l> £F
x>91.31%3-273.9=0.03 > H & % & #- & % 3 PF37iE o £ 12 x=0.03 3¢ > T°=273.9+x=273.93
(% 3 ) A°=23.5%(T"+91.31)-47°=94°-23.5°x(T’+91.31)=23.5° 3+ § M’=Ktan)\’°~0’°=cos
'(M’/r)=79.1019629274°> % % B p % jietn P PF %] 5 1-(0.5-0°°+360°) =0.7197276748 p » ¥
5 B AR S 0.9+0.03=0.93 p » & B 2t I PP e B BAp t IAE By
PRERFG ) Tp F A AL T =9131x3+y p BFRF {5 > F = P & > 0<y<l B fup /& pFenps
% 5 0.93+y-1 p PR (B3R y>0.07) 3 & 17°=94°-23.5°x(T”+91.31)~ M”=KtanA”°~0”°=cos’
'(M”/r)> & 8 1-(0.5-07°+360°) =0.93+y-1-trial and error ;# ¥ y=0.7900245352 p (y>0.07)>
o A7° = 23.2966753195° « 07° = 79.2088326842° 0 % B AP £ P PF % % 0.93+y-
1=0.7200245352 p > 48§ ** 17 B%F 16 » 50.1 #) ;

1 1 2 2 o__NQ.° 2 ,0
1 [cos(90°—e~°)] +[COSO\"°)] —[tan (90°-0°)+tan-(A )]
07 cos’ 1 T —25.5476104436°
><cos(90°—en°)XCOS(;UQ)

B AP EFRELBG L F e 25.5476104436° -
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2] B 3 B B e AR 1]

M4k 10 2 trial and error (PP E) E € BRI K6 3¢ x enfE (2 & Excel 08
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i3 p°=33.25° » K=Rco0s(90°-p°) (R ¥ % % 1) r=Rsin(90°-p°) (R ¥ % % 1) sl x
B o0 T=T4x 0 25 B o’°=23.5°x(T’+91.31) ~ M’=Ktana’° ~ 9’°=cos"(M’/r) v B AT -
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g e error=f(x) » § X - B2EF ) PRI P error & x OB GARITNE MR o T A
il = B x @033 error;=f(x;)~error,=f(x2)’ 17 Excel #it 48 # 31 i # (x,,error;)~ (X2,errory)
Z B E R 2N error’=m(x)+b; 0 3 E  error’=0 B x B x30 £ 3 E error=f(x3) &
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